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Understand and apply the distributive property of multiplication.

4MD-3 The distributive property of multiplication

o
000 000000000000
09000009 0000000
090000000000 00

How can the distribuytive Law help

ws work lout how | dots there |.orne?
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WALT uwse common factors
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common to hoth
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If you correctly answered all of the mega

challenge .question, mowve .on to the class
questions.

If you did not answer all the mega challenge
correctly, stoay with me to learn .more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




ommon factors © complete the sentences.
‘a) The factors of 24 are

The factors of 36 are

The common factors of 24 and 36 are

‘ Kim is using counters ta find factors of 18

b) The factors of 30 are

She arranges the counters in one row.
0000006000000 00000 The factors of 45 are

The common factors of 30 and 45 are

Then she arranges the counters in two rows.

@) Kim's array shows four numbers that are factors of 18 1 3 5 7 2 35
Which numbers are they?

I | |- e =g

b) What are the two other factors of 187 O)

) Write the numbers on the diagram.

© Use counters to find the factors of 27 g
List the factars of 27 ° @) List the factors of 60 in order from lowest to highest. Q
b) What ‘the fact: f 21 and 357
d) List the common factors of 18 and 27 ) T e o b) List the factors of 84 in order from smallest to greatest
) How does the Venn diagram help you to list the @
Why are these numbers common factors? @ P @ What s the highest common factor of 60 and 847
[R——
| I @ Whitney bakes 24 cakes
Dexter bokes 30 cokes.
Boxes can hold 2, 3, 4, 5, 6 or 10 cakes. [..] ..}
‘Whitney and Dexter want to share their cokes equally into boxes.
‘@) Which boxes could Whitney use?
° Circle the pairs of numbers that have only one common foctor.
2ond 6 Jond 8 15 and 12
b) Which boxes could Dexter use?
9ond 11 49 ond 21 15 and 22
ot do you notice? @ © Which boxes could they both use?
° Al the foctors g Compare answers with a partner g
of 36 are common factors
q%ond 72 T am thinking of two
Do you agree with Mo? — (5] numbers between 70 and 80,
Explaln your reasoning. Gk The common factors are
& 1.2,4and 8
™
‘What are the two numbers that Teddy is thinking of? @
(-]
s
. Why do you think this happens? @
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1 row of 8 is equal to 8 .and.are factors of 8
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~ 2rows of 4 are equal to 8 .and.are factors of 8 -
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” The factors of 8 are:_




ANSWERS

White

Common factors Complete the sentences.
o) The foctors of 24 are

The factors of 36 are

The common factors of 24 and 36 ar

° Kim is using counters to find factors of 18

b) The factors of 30 ar

She arranges the counters in one row.

0000000000000 00000 The factors of 45 o

The common factors of 30 and 45 are

)

Then she arranges the counters in two rows.

@) Kim's array shows four numbers that are factors of 18 1 3 5 7 n 35

° a) Write the numbers on the diagram.

Which numbers are they?

) SIS

b) What are the two other foctors of 187

¢) Use counters to find the factors of 27

& @

List the factors of 27

d) List the common factors of 18 and 27

©) How does the Venn diagram help you to list the @
common factors?

b) What are the common factors of 21 and 357

Why are these numbers common factors?

©
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ANSWERS

° List the common factors of each pair of numbers. ° a) List the factors of 60 in order from lowest to highest. Q

’ (] e
b) List the factors of 84 in order from smallest to greatest.

€ What is the highest common factor of 60 and 847

b)
EI o Whitney bakes 24 cakes. ﬁ %'
- Dexter bakes 30 cakes. %
eve

Boxes con hold 2, 3, 4, 5, 6 or 10 cakes.
Whitney and Dexter want to share their cakes equally into boxes.
a) Which boxes could Whitney use?

° Circle the pairs of numbers that have only one common factor. -

b) Which boxes could Dexter use?

IS 0 Jou motion® @ © Which boxes could they both use?
of 36 are common factors

o o ») -om.., Q
of 36 and 72

I am thinking of two
Do you agree with Mo- o

numbers between 70 and 80
Explain your reasoning. @@ The common factors are

1,2,4and 8

All the factors

What are the two numbers that Teddy is thinking of? 9

Why do you think this happens? @
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Haveathinkm |

The factors of 12 are[ J

The factors of 8 are( ]

OC}and Dare factors of 12 and 8

DDandDare ) factors of 12 and 8

Whitney and Dexter both have dark hair.
They have dark hair in[ ] (WE — )




Factors of 15 Factors of 25

What .are the common factors of

15 and 257

O (2:25-3:55) - (o)




Plenary  ©(5:03 - 7:37)
Rosie has 14 tennis balls. O Q

Amir has 24 tennis balls. O

Ball containers can hold 2, 4, 8 or 10 balls.

same size and to have only full containers.

Have a think m

1) Which container size could both Amir and
Rosie use?

2) Which container size could neither Amir nor

Rosie use? D
OR Nrich .could feed bhack!



4MD-1 Multiplying and dividing by 10 and 100

Multiply and divide whole numbers by 10 and 100 (keeping to whole number quotients);
understand this as equivalent to making a number 10 or 100 times the size.

1,000/2,000(3,0004,000 5,000/6,000/7,0008,000/9,000
100 200| 300, 400, 500/ 600, 700/ 800f 900
10, 20| 30 40 50 60 70[ 80 90
1 2 3 4 5 6 7 8 9

80 x 10 = 800 80+10=8

r_/N A

x 10
+10

Figure 118: using the Gattegno chart to multiply and divide by 10

Explore how
the chart helps

Language focus

“23, made 100 times the size, is 2,300."
“23 multiplied by 100 is equal to 2,300."
“First we had 23 ones. Now we have 23 hundreds.”

uws x 10,100,1000:

1,450 is 10 times the size of 145."
1,450 divided by 10 is equal to 145."
“First we had 145 tens. Now we have 145 ones.”
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) )= 10| x| 44 times i
2)[ 100 = LJF 510 Lots of I
3) 6l x 6 x 10 = ten
L) ~ |3 = 130 hundred N
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WALT multiply by 10 and 100
/ 1 ( )= 10 x 44

2) 100 ()= 5100

3) 6 x 6 x10=_")
\ L)@ 13 = 1300

If you correctly answered all of the mega

challenge .question, mowve .on to the class
questions.

If you did not answer all the mega challenge
correctly, stoay with me to learn .more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




Multiply by 100

o ‘Complete the calculation shown in base 10

3Ix1 hundrrd-Dhuﬂdudx
e[

° Complete the number sentences.

azem ] asew[ ]
D)‘llmll:l ] "I):l‘DlI:l
awoxs=[ | a[_ J-wxw

€ There ore 7 boxes of 100 crayons.

Cirde the calculations that work out the total number

of crayons.

100 + 7 100 x 7 7+ 100 7 x 100

° Match the imoges to the calculations.
Complete the colculations.

B-lN-:l

EEEE0E
U

In this calculation, each square represents a missing digit:

Hox = [Clox[1

One possible solution is:
10x2=20x1

Can you work out some different ways to balance the equation?

@ coicuiate the perimeter of the rectangle. g

5m
i —
v [-

Give your answer in centimetres.

The perimeter of the rectangle

—

o Write <, > or = to compare the statements.

ol s
b) )s-mnOwu-)s
L] |00n2102S=H)D
d) ll-‘nﬂO!l-!ﬂx'ﬂl
) 30):1003:100

o Amir thinks of a 2-digit even number. Q
He multiplies it by 100
His answer is greater than 3,450 but less than 3,750

]

Write the number that Amir is thinking of

o Four children are making numbers using base 10
The table shows how many of each piece they use.

17 o
15 8
16 15

@) What number has Eva made?

]

b) Whe has made the biggest number?

€ Whitney hos made the same number as Eva.
She used 100s and 10s.
What pieces could Whitney have used?
Write your answer in the table.
Are there any other answers? Talk about it with o partner. @




ANSWERS

White

Multiply by 100 ° Match the images to the calculations.

Complete the calcul

o Complete the calculation shown in base 10

3 x 1 hundred undreds

3 x 100

Complete the number sentences.

a) 2 x 100 d) 5 x 100
b) 4 x 100 e) 100 x 1

c) 100x8 f)

There are 7 boxes of 100 crayons. d) 5 x 7 x 100 =

100 jj| 100 j| 100 100 jj| 100 | 100 jj| 100 ‘)-' 100 = 6,500
Circle the calculations that work out the total number ) 100 x 3,000
of crayons.

— © Wihite Nose Muths 2019




° Calculate the peri of the rectangl g o Amir thinks of a 2-digit even number. Q

He multiplies it by 100

His answer is greater than 3,450 but less than 3,750

5m
————————p
3 | - Write the number that Amir is thinking of.
m

Give your answer in centimetres. ° Four children are making numbers using base 10

The table shows how many of each piece they use.

0
8
15
The perimeter of the rectangle
Vo st

a) What number has Eva made?

o Write <, > or = to compare the statements. -
b) Who has made the biggest number?

a) 45x 1 45 x 10

b) 36 x 1 100 x 36
) Whitney has made the same number as Eva.
9 100x2 26 x 100 She used 100s and 10s.
What pieces could Whitney have used?
d) 31 x1 31 %10 x 10 Write your answer in the table.
Are there any other answers? Talk about it with a partner. @
e 30x1 3 x 100




1 ten

4><1ten=-
ax10=C_)




1 hundred 5 times

o 5 1 hundred =)

L 5><100=. This is true

| * because

- 100xs=-nwiﬁplim.ti.on
— s commutalive
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WE DO q
we se the .commutatin
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6)x 10 X|9)=




Tvouno

) 5.x/l0 4 )
2) 45 x 10 = CZ
3) 500 ="
4) 45 ;100 =

5) 26 x UJ= 260
6) )l 10 = 260
7) 13 x| = 1300
8) 13xlC)=130
9) 49 x 100 =
10) 10 x 100 = )




rueor False ? 4

H2 X 100 > 420 X 10




4MD-1 Multiplying and dividing by 10 and 100

Multiply and divide whole numbers by 10 and 100 (keeping to whole number quotients);
understand this as equivalent to making a number 10 or 100 times the size.

1,000/2,000/3,000 4,000/5,000/6,000/7,000/8,000/9,000
100/ 200/ 300 400 500 600 700 800 900

v x 10
10 20| 30 40, 50 60 70, 80 90

r__/N\ A

T ' +10
1 . 3 4 5 6 7 8 9
e 4 13x10=130 130+-10=13
chart to 130x10=1300 1,300:10=130
E/IPMJ-” 13x100=1300 1,300=100=13

Useful phrases: 23, made 100 times the size is 2300. 23, multiplied
by 100 is equal to 2300. First we had 23 ones. Now we have 23
hundreds.

1450 is 10 times the size of 145. 1450 divided by 10 is equal to 145.
First we had 145 tens. Now we have 145 ones.
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WALT multiply by 10,100 .and 1000

/ ) 62 x 100 = 6200 \

2) 461 x 10 = 4610
3) 6 x 10 x 10 = 600
4) 400 x 100 = 40000

\ 5) 70 x 10 x 100 = 7000 /

If you correctly answered all of the mega

challenge .question, mowve .on to the class
questions.

If you did not answer all the mega challenge
correctly, stoay with me to learn .more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




|WALT mudtiply by 10,100 and 10100

1 thousand




1 thousand

B 5 X 1 thousand =_
| Ix1000=[""1

1,000 {1 = [




1 thousand




E

~ |3

00




Plenary
Part 2

1) To multiply a number by 1[0Jeach digit moves
to the left on a place value grid.

2) To multiply a number by 1[00) each digit moves
to the left on a place value grid.

3) To multiply a number by 1,000 each digit moves
to the left on a place value grid.




4MD-1 Multiplying and dividing by 10 and 100

Multiply and divide whole numbers by 10 and 100 (keeping to whole number quotients);
understand this as equivalent to making a number 10 or 100 times the size.



L esson |

Mega Challe
)| 500 = 10 =

2)| 500 = 100 =
3) 6000 = 10 =
1) 6000 = 100 =




g WALT divide hy 10 and 100

[) 500 + 10 = 50 i
2) 500 = 100 = 5 I
3) 6000 + I0 = 600 I
4) 6000 = 100 = 60 i

N J

I you correctly answered all of the mega

challenge .question, mowve .on to the class |

questions. i

If you did not answer all the mega challenge

correctly, skay mwith me to learn imore.
| Class questions - see next slide! L

REASON AND PEER MARK FOR EVERY QUESTION!‘




WALT divide by 10 and 100
Do .it!

Reason .it!
Peer M.ark it!



(100




WE DO |
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You DO




ANSWERS









4MD-1 Multiplying and dividing by 10 and 100

Multiply and divide whole numbers by 10 and 100 (keeping to whole number quotients);
understand this as equivalent to making a number 10 or 100 times the size.
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If you correctly answered all of the mega

challenge .question, mowve .on to the class
questions.

If you did not answer all the mega challenge
correctly, stoay with me to learn .more.

Class questions - see next slide!
REASON AND PEER MARK FOR EVERY QUESTION!




Do it!
Reason .it!
Peer M.ark .it!
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You DO




ANSWERS
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